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realmCode 1.1 Hu ALY, "CN" AR FR [
tvpeld L] | ORI, SR @root="2.16.840.1.113883.1.3", @extension="
P “* | POCD MT000040"
templateld 1.1 | ORISR S OID, HAF@root="2.16.156.10011.2.1.1.13"
) 1.1 FKHIRS, IR HAR S, HP@ root="2.16.156.10011.1.1.1.4", ifij & | DE01.00.008.
B REI%5 B T id/@extension H 00
FH SRV I AC % ORI 2E Y, Hidh @code="HSDB04.02",
code 1.1 | @codeSystem="2.16.156.10011.2.4", @codeSystemName="T4:15 &}t
ISR R"
title L.l | SCRYbRAE, A 2 ZROpE PR B B 15 IR 4510 %
effectiveTime 1.1 | SCHEE S I
confidentialityCode 11| OB ARUE, HrPEEE: @codeSystem="2.16.840.1.113883.5.25"
languageCode 1.1 | MBS MY, HPHEME: @code="zh-CN"
setld 0.1 | CRIEASRS, MLUBEMEITHIR. HEH &% A=
versionNumber 0.1 RS A
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TR AR 4 P RSE A Xﬂjﬂ?ﬁfmw
recordTarget | SO TC X R B AR R G P A E
@typeCode="RCT", @ contextControlCode="OP"
|--patientRole 1.1 | B mAf, HPhig{E@ classCode="PAT"
: TR AR RS, P EE@ root="2.16.156.10011.1.2",
-+ L1 | i A5 B T i @extension DE01.00.009.00
|--|--addr 11| Lk, HAh g {E@ use="H" GhriRthb2En048a)
|--|--|--houseNumber Huhk- TR S DE02.01.009.06
|--|--|--streetName IEREE-A (B, B 5 DE02.01.009.05
|--|--|--township k-2 B BrEHFAD) DE02.01.009.04
|--|--|--county Huhk-E (X)) DE02.01.009.03
|--|--|--city Hihk-TH (XD DE02.01.009.02
|--|--|--state Hhk-#% (BRI, BHFETD DE02.01.009.01
|--|--|--postalCode 0.1 | MPEGmht DE02.01.047.00
|--|--telecom 0.*% | BRRHIE DE02.01.010.00
: BENMNEARER, HAHEE® classCode="PSN" ,
[~I--patient 0-1 @determinerCode="INSTANCE"
|--|--|--name 1.* | BHEA DE02.01.039.00
|--|--]--administrativeGenderCo B R, B GB/T 2261.1 brEHS, Hr
de @codeSystem="2.16.156.10011.2.3.3.4" DE02.01.040.00
|--|--|--birth Time 0.1 | BFHAEHM DE02.01.005.01
|--|--|--maritalStatusCode 0..1 Ziﬁfgf:iﬁ ”2J:)6ﬂ1 ?613{3;02121621 § fcsﬁg b, DE02.01.018.00
|--|--|-ethnicGroupCode 0.1 gff éesr; iﬁf;ig“lgﬁﬁ?gﬁz”f DE02.01.025.00
|--|--|--birthplace 0.1 |
|--=]--|--|]--place 1..1 L@ .
classCode="PLC" ,@determinerCode="INSTANCE"
|-~ [-[--|--|--addr 0.1 | th/Esht
author | * SCRBIERE, B4 {E: @typeCode="AUT",
@contextControlCode="OP"
|--time 1.1 | WviHM DE06.00.024.00
|--assigned Author 1.1 | fREAIEH, BE{E: @classCode="ASSIGNED"
i L | TEEHME—RIALRE, @ roo="2.16.156.10011.1.7", M F 4
B Hi%m'5 B T id/@extension
|--|--assignedPerson 1.1
|--|--]--name 0.1 | BiviEEAMA DE02.01.039.00
|--|--representedOrganization 0.1
e eeid 11 BERSHETIIRR, Hh@root="2.16.156.10011.1.5",
B T 2R 9% 5 B T id/@extension H
|--|--|]--name 0.1 | BEAFAERLILR
|--|--|--addr B bk
custodian 1.1 | SCRYE NG B H A [ @typeCode="CST"
|--assignedCustodian 1.1 | $41{E: @classCode="ASSIGNED"
|--|--representedCustodianOrga L1 FIEF TGRSR N ARG LE S AR ML, o
nization @classCode="ORG" , @determinerCode="INSTANCE"
feefec|eeid L | CRREIERS THLIARIA, I @root="2.16.156.10011.1.6",
B AR K %5 B T id/@extension
|--|--|--name 0..1 {%%*ﬂ*@g$k
|--|--|--telecom 0.1 | CREVLI RIS
|--|--|--addr 0.1 | fRENLHAL
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relatedDocument 0.* . . . . . .
SCREAHORAR R, TR R A ST SO ) S5 SO B R A5 R
|--parentDocument 1.1 | A3TH
|--|--id L | SOCHEARIRTT
|--|--setld 0.1 | STHERFFS
|--|--versionNumber 0.1 | SCHRRAS
6 SCHEERE
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TR AR JE 1t B “ LUIESE 4 X{Fﬁfl’]iﬁlﬁ
3 TEhRIRTF
component BV E RO R
|--section
code
h-cods codeSystem . R BV FAF TS, Hd @displayName="Ff
displayName e
codeSystemName
|--|--text NS
|--|--entry B 54 H
classCode HrF@classCode="CASE ", @
[mH=Observation moodCode moodCode="EVN"
codeSystem RV 77 AR, H @ codeSystem

|-~[--|--[--code codeSystemName 1.1 R | ="2.16.156.10011.2.2.1", @ codeSystemName=" DE06.00.108.
PAAE BT H o

|--|--|--|--effectiveTi o DE06.00.109.

L.1 | R | AREEVI (A

me 00
Ky 77 AR IUE, s E@

|--|--|--|--value 1.1 R | codeSystem="2.16.156.10011.2.3.1.183" ,@code
SystemName="1}j /7 :\LACHER"

6.3 ERET

6.3.1 FERETHRBEHMR

EIR 715 2% H AL RS o
*R8 FERET HFBIIR
% H AR HA 2R E{HBEN
AR H 1.* R AN H B A AR S EERE IR PR A4 B S AR AR 58 S i 1 22 AR

6.3.2 ERETITHRAM

AEIRE TR AR

R IERETTEREAR

B R . PRPNAIOEVE/APw
SRR i R VL 5 ik -
3 PRIRSE
component FERFERIGR
|--section
code JERFEFUD, HHP@ code="11450-4",
codeSystem @displayName="PROBLEM LIST ",
|--|]--code 1.1 R
displayName @codeSystem="2.16.840.1.113883.6.1"
codeSystemNam @codeSystemName="LOINC"
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e
|--|--text )\ii% %
|--|--entry SER K H
) H 4 {1 @classCode="CLUSTER",
|--|--|--organizer
@moodCode="EVN"
|--|--|--|]--statusCode
|--|--|--|--component .1 RER A4 PR
|--|]--|]--|]--]--Observa classCode
HA@classCode="0BS”, @moodCode="EVN”
tion moodCode
codeSystem SERZRRAY, Hd,
DE04. 01.118.0
|-=[--|--|--|--|--code codeSystemNam 1 @codeSystem="2. 16. 156. 10011. 2. 2. 17 , @code 0
e SystemName=" T AE 15 B EdE 0 H &7
|--|--|--|]--|--|]--value 1 EIR 2 FREAE
|--|--[--|--component .1 AERATY
|--|]--|]--|]--]--Observa classCode
HA@classCode="0BS”, @moodCode="EVN”
tion moodCode
codeSystem RERACHS, o,
DEO4. 01.116.0
|-=|-=|--|--]--]--code codeSystemNam .1 @codeSystem="2. 16. 156. 10011. 2. 2. 1”7, @codeS 0
e ystemName="T 415 B ¥E 0 H 1~
SERACAGEAR, H A S {8
|--|--|--|--|--|--value .1 @codeSystem="2. 16. 156.10011.2.3.3.11.1 7,
@codeSystemName="JERALALFE (ICD-10 R) ”
6.4 HaMMEET
6.4.1 HEHIMEETERBHEK
A A RAIE BT 2% B A RUILER 10
F10 EHAMEETFEBEHK
2% H 4 HE 2 el
mEZ%H 1.1 R W /AT R R AR, TR ERALN mmHg
RE L% B 1.1 R RE R, RPN kg
UNGEERE S 1.1 R WRFEAE (kg) BRUBETH (m») HHEHAER
TS A b A L1 | R |t et B
HABBAEAARAE S H 0.1 R2 il HARBAHEAATE S H
6.4.2 H@MEET TREARK
AR R R A IR,
R EHAREETTRER
_ |4 . - POINA A€
7N =y ® A5 — A
e E Rt il B S5 s
component A AR R TR
|--section
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code A IRAERE AT, KA @code="8716-3" ,
l--l--code godeSystem @codeSystem="2.16.840.1.113883.6.1",
displayName @displayName="VITAL SIGNS" ,
codeSystemName @codeSystemName="LOINC"
|--|--text NS
ientry M52 H
|- |--organizer HH, @classCode="BATTERY",
& @moodCode="EVN"
|--|--|--|--statusCode
|--|--|--|--component Wede
|--|-=|--|--|--Observation
code
codeSystem HA1, @codeSystem="2.16.156.10011.2.2.1" ,
I T T Y, e S — DE04.10.174.00
[rof-l-l--I=-|--code codeSystemName @codeSystemName=""T.4 15 5 %4 76 H %"
displayName
xsi:type
|-=[-=[--[--|--|--value value B8 {4 @xsiztype="PQ", @unit="mmHg"
unit
|-=|--]--|-- component FikE
|-=|-=|--]--|--Observation
code
codeSystem HAF, @codeSystem="2.16.156.10011.2.2.1" ,
O O O A DE04.10.176.00
[=t-t-l-l--|--code codeSystemName @codeSystemName=""T =15 B4 H %" 7
displayName
|==|--|~=|--|--|--value Xf;zg ¢ BB H@xsi:type="PQ", @unit="mmHg"
|--|--entry HE%H
|--|--|--Observation
code
codeSystem HA, @codeSystem="2.16.156.10011.2.2.1" ,
Y O Y e B e — DE04.10.188.00
[-t-t-l--code codeSystemName @codeSystemName=""T 415 B4 0 H " 8
displayName
|--|--|--|--value xsi:type 544 {H @xsi:type="PQ", @unit="kg"
|--|]--entry R ]
|--|--|--Observation
code
codeSystem HA1, @codeSystem="2.16.156.10011.2.2.1" ,
—c|ee|-=|--cod e S — DE05.10.075.00
[-f-l--I--code codeSystemName @codeSystemName=""T.4 15 5 #4376 H %"
displayName
xsi:type
|--|-~[--[--value value B8 {4 @xsiztype="PQ", @unit="Kg/m""
unit
|--|--entry Bk bR L% H
|--|--|--Observation
code
codeSystem HA1, @codeSystem="2.16.156.10011.2.2.1" ,
O O Y e e — DE04.10.237.00
[-t-t-l--code codeSystemName @codeSystemName=""T 415 B4t H " 7
displayName
|--|--|--|--value /4 {4 @xsi:type="BL"
|--|--entry FoAhPHPEARAE S H
|--|--|--Observation
code
codeSystem HA, @codeSystem="2.16.156.10011.2.2.1" ,
—c|ee|-=|--cod e S — DE04.10.143.00
[-f-l--I--code codeSystemName @codeSystemName=""T.4 15 & %4 76 H %"
displayName
|-=|--|--|-- value H R, Hrh@xsitype= "ST"
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TEEXH 0..1 R2 WREEE
VLAY 0..1 R2 a0 P B A 1L
WETHN 0..1 R2 CTEEAT A
6.5.2 HFEAFRETTREM
AT A E R T RAMNAEL.
®13 EEAFAEDTREK
. #* | 4 . . N
TEGH Bt £\ 4 B A T
R TehRIRFF
component AE T NETICR
|--section
|--]--code code 1.1 | R | A3 &R, @displayName="4: 3 7 3"
itext Y
|--|-- entry R 2% H
. HrpE [ @classCode="CLUSTER",
|--|--|]--organizer
@moodCode="EVN"
|--|--|--|--statusCode
|--|--|--|--component 1.1 | R | HWHE
|(;I-l|--|--|--|--0bservat1 I:(?ZZCC(;%Z H A @classCode="OBS", @moodCode="EVN"
codeSystem Hu AR, Hd,
DE03.00.05
|--|--|--|--|--|--code codeSystemName | 1.1 | R | @codeSystem="2.16.156.10011.2.2.1", 3.00
codeSystemName @codeSystemName=""T £ {5 B 44 6 B &" ]
1 );\E s L ZIN ~: " u,
|-~ [=[--|-~|--|--value .11 R H &%Hﬂﬁ Hh B H@xsi:type="PQ
@un1t="3'i"
|--|--entry iti% B
4 H 4 @classCode="CLUSTER",
|--|--|]--organizer
@moodCode="EVN"
|--|--|--|--statusCode
|--|--|--|--component 1.1 | R | HHZE%H
|(;I-l|--|--|--|--0bservat1 gjzzcc(;%z H A @classCode="OBS", @moodCode="EVN "
codeSystem HARB AR, HA,
fo=f=-f=-|=-]=-|--code codeSystemName | 1.1 | R | @codeSystem=" " DEO3-00.05
. ystem="2.16.156.10011.2.2.1" , 4.00
codeSystemName @codeSystemName=""T4 {5 & H(##& 7t B %" ]
|-=|-=|--|--|--|]--value 1..1 R HAR 2% HACIS U, HpsgE
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@xsi:type="PQ" , @unit="}"

|--|]--entry 25 H
H 45 {6 @classCode="CLUSTER",

|--|--|--organizer
@moodCode="EVN"

|--|--|--|--statusCode

|--|--]--|--component LIRS

|--|--|--|--|--Observati classCode + _ " _n "

on mo0dCoda HH@classCode="OBS", @moodCode="EVN

codeSystem BRI HAA, Hd,
rbeereode | e @codeSystem="2.16.156.10011.2.2.1" DEO3 0008
Y @codeSystemName=""T £ {5 B4 ¥ 6 B %" '

BN HARIEEUE, R E@

|--[~-|--|--|--|--value @codeSystem="2.16.156.10011.2.3.1.23",
@codeSystemName="5147% 2 i AL R"

|--|--|--|--component B K 54%HE

[--l--[--[--|--Observati classCode H@classCode="OBS", @moodCode="EVN"

on moodCode ) ’

codeSystem BN KR P H ARG, Hi, DE03.00.08
|-=|-=|--|--|--|]--code codeSvstemName @codeSystem="2.16.156.10011.2.2.1" 3 60 '
Y @codeSystemName=""T4 {5 & H(##& 7t B %" )
|-=|-=|--|--|--|]--value 1B KT8 5 4 H AR HUE
|-=[==-=|=|--|-[--width H P @unit="min"
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=13 (&)

_ |9 . " POy Atk v
2 /_< ‘ Ny GRS * — LA
TELF R % | % PTG peplecpss
|--|--entry H Iﬁ% (g) % H
. classCode _n " _n "
|--[--]--Observation oodCode HH@classCode="OBS", @moodCode="EVN
codeSyst = i, o,
e AERE () fiFs, \ DE03.00.05
|--|--]--|--code codeSystemName 1..1 R | @codeSystem="2.16.156.10011.2.2.1" , 500
Y @codeSystemName=""T £ {5 B 44 o H %" .
codeSystem =
[+-l--I--I--value codeSystemName LU R | PERE ()
|--|--entry DI 24 H
. classCode
e H ", " ) n
|--|]--]--Observation m00dCoda H.F@classCode="OBS", @moodCode="EVN
codeSystem O g Y, Hrh,
DE05.10.08
|--|--|--]--code codeSystemName 1.1 | R | @codeSystem="2.16.156.10011.2.2.1" , 300
4 @codeSystemName=""T4 {5 & Z(##& 7t B %" ]
codeSystem L EARSHE, H@ @codeSystem="
|--|--|--|]--value codeSystemName 1..1 R | 2.16.156.10011.2.3.2.26 ", (@codeSystemName="4»
Y TGS R R
|--|--entry @@1?%5@%% H
. classCode
e H ", n ) n
|--|]--]--Observation moodCode H@classCode="OBS", @moodCode="EVN
codeSystem HEAT MR BN, Hi,
\ DE05.10.06
|--|--|--]--code codeSvstemName 1.1 | R | @codeSystem="2.16.156.10011.2.2.1" , 3.00
4 @codeSystemName=""T4 {5 & H##& 7t B %" ]
HEATAMERE, H'@codeSystem="
|--|--|--|--value codeSystem 1.1 | R |2.16.156.10011.2.3.2.27", @codeSystemName="Fff
Vi RAT AT A AT R
6.6 JRTTITXIET
6.6.1 JATITRKIETLZEMM
BIT TR 2% H UL R 14
F14 RTITRIET £ B
% H AR T, 2 ik
ER7RLNA 0..1 R2 3k HARRE
H bR i Fa 4 0..1 R2 103% B ARIR T HE 4K
H BRI A 2% H 0..1 R2 it B AR AREE (GO
H bR 2% B 0..1 R2 sk H s BN &
H¥ria3) % H 0..1 R2 3% B ARIZ AR S B Bl
EliEN-s 3= 0.1 R2 WA TERER
6.6.2 JETTITRIET TREM
RIT TR E T TR AN AR LS.
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T AR Rk -~ U MR
H agis
component BT THRIFE TR T ER
|--section
T TR E AR, S
@code="18776-5"
|--|--code code R | codeSystem="2.16.840.1.113883.6.1",
@displayName="TREATMENT
PLAN",@codeSystemName="LOINC"
|--|--text NBEHB S
|--|--entry H ARk E 2% B
I~/-~Obsorvation classCode H A1 @classCode="0OBS",
moodCode @moodCode="EVN "
codeSystem H bR EARS, H,
e lefcode R @codeSystem="2.16.156.1001 1.2.2.1';, DE04.10.188.00
codeSystemName @codeSystemName="T 4 {5 B ¥z 760 H
v
|--|--|--|--value codeSystem R | HFrfREAE
|--|--entry HAnA e 4% H
) classCode HrAr@classCode="0OBS",
—+-Obiservation moodCode @moodCode="EVN "
codeSystem H b e 80, H,
@codeSystem="2.16.156.10011.2.2.1" ,
feefom|--|--code R B DE05.10.075.00
codeSystemName @codeSystemName="T 415 S ¥4 0 H
v
|--|--|--|--value codeSystem R | EAsEFRIEEUE
|--|-- entry H BRI AR 2% H
4 Hrhih 48 [ @classCode="CLUSTER",
F~-organizer @moodCode="EVN"
|--|--|--|--statusCode
|--|--|--]--component R | B AT E
[ |- }--|--Observation gjgz‘éﬁee gj()%@;éa;;g;g;ﬁpsw
codeSystem H W AR, o,
el -code codeSystemName R @codeSystem="2.1 6.'1' 56.1021@1.%.2. 1 E DE03.00.053.00
codeSystemName gﬁodeSystemName: TAEREYECH
el -value R H 'ﬁi%ﬁﬂﬁy E*ﬁ%‘ﬁ
@xsi:type="PQ", @unit="3"
|--|--entry H bR 2% B
4 Hrhih 48 [ @classCode="CLUSTER",
F~-organizer @moodCode="EVN"
|--|--|--|--statusCode
|--|--|--|--component R | HAx BB =
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. classCode HrF@classCode="0OBS",
[l---}--|--Observation moodCode @moodCode="EVN "
codeSystem Hix =AY, Hd,
codeSystemName =" ",
|eefef-|-|--|--code = 1.1 @cojezystemN 2161 ;6 ;321; %{% -1y | DE03.00.054.00
codeSystemName %ﬁo esystemiName= e L
el value 11 HYOmEEUE, HAaaE
- @xsi:type="PQ" , @unit="P"
|--|--entry Hirizzhs B
e ) Hrp 44 @classCode="CLUSTER",
--|--|--organizer
@moodCode="EVN"
|--|--|--|--statusCode
|__|__|__|__c0mponent 1..1 H ﬁié@*ﬁﬁ%
. classCode H A @classCode="OBS",
[+-}--[--[-~I--Observation moodCode @moodCode="EVN"
codeSystem BENIER L HARS, Hrd,
@codeSystem="2.16.156.10011.2.2.1"
[ot-l--l--l--I--code codeSystemName L1 @codeSystemName=""T 415 2 ¥ 5t H DE3.00.087.00

%u




WS/T XXXXX. 13—XXXX

F= 15 (80

B % [ % ‘ S I 2 T b
TR AR & . Ui B iR .
R RAF
|--|--entry 0.1 | O | HfsHEER (g 4H
classCode H n " _n
-|-|--Observation L1 I F1@classCode="OBS", @moodCode="EVN
moodCode
codeSystem HirHERE (9 MR85, Hi,
|--|--|--]--code 1.1 | R | @codeSystem="2.16.156.10011.2.2.1" , DE03.00.055.00
codeSystemName @codeSystemName=""T 4 {5 5 (4 70 B %"
codeSystem N,
[+-|-[--|--value L1 | R | AtsHERE ()
codeSystemName
6.7 XREREET
6.7.1 IREXRESTHEBEMK

S S A T A H A LR 16,

*lo SWENESTHFEMM

% H 4 B3 2R iR
ZIEMFEHE (mmol/L) 1.1 R TG MBEEAE, BA7°8 mmol/L
WAL AE (%) 1.1 R WAL AE (%)
A% H 0. R2 MR K4 Ridsxk

6.7.2 FEHREHRESZHITEHER
SIS A A B U R AR IR,

R17 LREREETVHITRER

TE A mie | | 2 T NI
H TUARIRTF
component SR ERAERETRTER
|--section
code
codeSystem S G F D, Hh@code="30954-2",
|--|--code displayName 1.1 | R | @codeSystem="2.16.840.1.113883.6.1" ,@codeSystemNam
codeSystemN e="LOINC",@ displayName="STUDIES SUMMARY"
ame
|--|--text N4
|--|--entry R MBEE S H
|--|--[--observation SSZZCC(;?; He@classCode="OBS" , @moodCode="EVN "
codeSystem TR MAEHE % AR, i@
[f--|--|--code codeSystemN | 1.1 | R | codeSystem="2.16.156.10011.22.1", @ DEIS0.03
ame codeSystemName=""TL4: {5 B £#% o H 3" .
|--|--|]--|]--value 1.1 | R | MR IKEE,H A @ xsiitype="PQ", @ unit="mmol/L"
|--|--entry P ER (%) 1H%H
|--[--|--observation I:}(?ZZCCZ%Z HF@classCode="OBS" , @moodCode="EVN "
|--|--|--[--code codeSystem | 1.1 | R | Fifbinsr A EAS, Hi@ DE04.50.08
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codeSystemN codeSystem="2.16.156.10011.2.2.1", @ 3.00
ame codeSystemName=""T 415 B4 #% 0 H 3"
|--[--|--|--value 1.1 PAMALE A8, HP@ xsi:type="INT"
|--]--entry WA % HE
Hrp 44 @classCode="CLUSTER",
|--|--|--organizer
@moodCode="EVN"
|--|--|--|]--statusCo
de
-l-f-J--compone ‘
) 1.1 WA E
n
|--|--|--|--|--observ classCode o " o "
ation 00dCode HrF@classCode="OBS" , @moodCode="DEF
codeSystem WA E A, K@ DE04.30.01
|--|--|--|--|--|--code | codeSystemN | 11 codeSystem="2.16.156.10011.2.2.1", @ codeSystemName=" 0.00
ame PAAE ST H R ‘
RRRR=ETT L1 | R | weptenn s
|~ -|—effec A DE06.00.04
tiveTino 1.1 i B AT H H 39 3.00
oo
ormer
o as
signedEntity
o
R
assignedPerson
R ) DE02.01.03
e 1.1 Ll AN i 9.00
. S
component 11 Bk AR
|--|--|--|--|--observ classCode n " _n "
ation 100dCode HrF@classCode="OBS" , @moodCode="DEF
codeSystem HWUREMESER, K@ DE04.30.00
|--|--|--|--|--|--code | codeSystemN | 11 codeSystem="2.16.156.10011.2.2.1", @ codeSystemName=" 9 00
ame PAAE ST H R ‘
RRRREETT L1 | R | weptenn s
6.8 BAHED
6.8.1 RHETFBWR
P25 51 2% H A UL R 18
*18 HAAETLFBEHR
% H AR HA 2R ik
rh 25 240G 0.1 R2 3R 2548 F 28 ARG
H#i%H 0.* R2 Tl 2 Rd A 45
JRBRMA%E 1.1 R FH T d 3¢ H T s 2 A F AL
G A4 e B2 1.1 R FA T2 SRR L S A7 450

6.8.2 FAHEDITERAR
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M EA TR AR INZEL9,

RZET TRIIR
. . o X %
TEE AT ik B e R
TUhRIRSF
component RIS
|--section
M#ZEF[A, K, @
code="10160-0"@codeSystem="2.16.840.1.11388
|--|]--code 3.6.1", (@displayName=" HISTORY OF
MEDICATION USE ",
@codeSystemName="LOINC"
|- |--text NER A
|--|--entry S ESINEE ]
. classCode G {E, @classCode="OBS" ,
[-[--I--observation moodCode @moodCode="EVN"
code
displayName th252R 505, HrhdisplayName="{F F 55" @ DE06.00.16
|--|]--|]--|]--code codeSystem codeSystem="2.16.156.10011.2.2.1", 4 60 ’
codeSystemN @codeSystemName=""T"4 {5 5 24 ot H %" '
ame
H B H@ codeSystem="
|--|--|--|]--value 2.16.156.10011.2.3.1.157" @codeSystemName="
BN
|--|]--entry HZi%H
|-.-|-—|—-substanceAdm1n1stra classCode classCode="SBADM" moodCode="EVN"
tion moodCode
codeSystem 2yt IS AR ISR, Y@ DE06.00.13
|--|--|--|--routeCode codeSystemN codeSystem="2.16.156.10011.2.3.1.158" , 4.00
ame @codeSystemName="H 2 & Z LG %"
|--|--|--|--doseQuantity BXAZHE, HP@ unit="mg" DE0386500'02
|--|--|--|--rateQuantity i AR, HA@ uni="0" DEO36(')%O' 13
|--|]--|]--|]--consumable
|--|--|--]--|--manufacturedPr
oduct
|--|-=|--|--|--|--manufactured
LabeledDrug
|-=[=l-=[=|-=|--|--code
|--|-=|-=|~=[~-|--|--name 2 AR DE028(')500'02
|--|--|--|--entryRelationship MRZGAR MR SE B
|- |-|--observation HA, @ classCode="OBS" ,

@moodCode="EVN"




WS/T XXXXX. 13—XXXX

F=19 (&)

TE AT Rt ) A HIRE IR
TUhRIRSF
[}l -l---code 24 A AR DEO6.99.027.
FRZRMAEACED IS, o
@codeSystem="2.16.156.10011.2.3.2.12" ,@code
fee-value \
SystemName="fR 24 f{k M\ A RIG K"
@xsi:type="CD"
|--|--|--|--entryRelationship HIZA B BRI H
|--|--|--|--|--observation HA @ classCode="OBS" , @moodCode="EVN"
ol b-l---code FIZIAR B RS DEO6AD-130-
[<-[-[--|-~|--|--value HZA R B A
[ -|o=|o-|=-}-|--|--precondition
|||l |criterion
el value FHZ7A B2 25 AR A DEOOAD-129
|--|--entry B B F AL AT 2% H
L classCode HrF, @classCode="SBADM", @
|--|--|--substance Administration moodCode moodCode="EVN"
-f+J---doseQuantity MR, Hh@ unit="mg" DEOS 89,023
|--|]--|]--|]--rateQuantity AR, HP@ uni="H" DEO%%O' 133.
|--|--]--|--consumable
|--|--|--|--|--manufacturedProdu
ct
|--|--|--|--|--|--manufacturedLab
eledDrug
[~ code
obobb--}-name P DEOS 50,013
|--|--entry TEEH]I*E&FE% H
|--|--]--Observation classCode HA @classCode="OBS", @moodCode="EVN"
IR 82 2% 5 ACRS,  Herb,
[-|--|--|--code @codeSystem="2.16.156.10011.2.2.1" DEO328.024.
@codeSystemName=""T*£ {5 B & ¥z 70 H %"
IR IBE S ¥ 2% H BUEL H P sk B @
|--|--|--|]--value codeSystem="2.16.156.10011.2.3.2.28",@codeSys
temName="1I& M4 5 /ARG %"

6.9 BERIHMHET

6.9.1 RBEFMHEETZBEMNK
il REVP At 2775 2% H A B LR 20,

®20 EEIFEETFBEARK

FHAR HH

2R

ik

I8 H BE V5 VR4S 0..1

R2 | d&&LEBEYS, ZEREY, wREY . R PR e U S AR R T A

6.9.2 BETEHEETITTREAR
f FEPEAl S R LR LR 21,
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®21 BRITEET TEREARK
& | £ |4 PIPNAINEVEi
TR AR UL RSE 3N .
| % | R TERRIRAF
component RV SR G R
|--section
BEREPEAL AR, HA @code="51848-0",@displayName="
|--|]--code 1.1 | R | Assessmentnote" , @codeSystem="2.16.840.1.113883.6.1" ,
@codeSystemName="LOINC"
|--|--text NS
|--|--entry WA 2% H
|--|--]--Observation HrF@classCode="OBS", @ moodCode="EVN"
RV 45 RS, K@
DE05.10.066.
|--|--|--|]--code 1.1 | R | codeSystem="2.16.156.10011.2.2.1" , @codeSystemName=""T.4= 00
(EISSCVHER S
BE VT PG 4 RACE IUE, Hh@
|--|--|--|]--value 1.1 | R | codeSystem="2.16.156.10011.2.3.1.150" ,@codeSystemName="
B 17 VT 45 SRARTE " @xsi:type="CD"
6.10 HBZENUET
6.10.1 FHIDEWETFBEMIL
AW 5% H M LR 22
R22 HRRWETHFBEMK
2% B 4 HA AP ik
Liars | 0..1 R2 TIN5 S, I s @l
6.10.2 FHPEWETTRAM
Pz il Em o R AR 23,
R23 HRBWETTREAR
. |4 \ PEIVAEE
TR AR JE 1t . Ui B 5 iR N
| R TEhRIASF
component o ENETRITER
|--section
code HAZ @S, Kb @code="18776-1"
l-code codeSystem L1 | g | codeSystem="2.16.840.1.113883.6.1" ,
displayName h @displayName="referal", @
codeSystemName codeSystemName="LOINC"
|--|--text )\)Li%lzﬁ
|--|]--entry 2% H
|--|--]--Observation sgzzccz(z HF @classCode="OBS", @ moodCode="EVN"

10




WS/T XXXXX. 13—XXXX

< 23 (40

T E AR Rt = B S RIS
B R TERRIRTF
codeSystem ol ENIE, Hip
|-=|--|--|--code codeSystemName | 1.1 | R | @codeSystem="2.16.156.10011.2.2.1", @ PE06.00.17
codeSystemName=""T4: {5 B4 #5 0 H 3" 00
|--|--|--|--value 1.1 R | ek, Hh@xsi:type="BL"
|--|--]--|--entryRelationshi o1 - H @ typeCode="CAUS",
p @negationInd="false"
classCode Hrp
|--|--]--|--|]--act moodCode @classCode="INFRM",@moodCode="APT
negationInd ", @negationInd="false"
codeSystem e REAN, H
|--|--|--|--|--|--code codeSystemName | 1..1 R | @codeSystem="2.16.156.10011.2.2.1",@co PE06.00.17
deSystemName=""T 415 B.£#% c H %" 700
ool text Aok
o bebefl-performer
oo befef-assignedE
ntity
o
|==|-=[-=[-[--|--|--|--represen
tedOrganization
e e[| |--]--name 1.1 | R | BAHMIR R AR DEOS.10.02
6.00
== - [=[==l=- |- |--|--[--asOrg
anizationPartOf
|==[==f==|-=[=[=-|-=[-=[--|--who
leOrganization
N ‘ DE08.10.01
L1 | R | BARSTH#FR
ame 3.00
6. 11 TORBETRHET
6. 1.1 TXBEHRHETFEMK
TIXBEVS 2R 5 H A RO 24
R24 TRBEHRHAETHEEERK
X H AR FH 4R
TIRBEV % H 1.1 R X KB 1) EAT 22 4k

6.11.2 TRBEFRAFET TEAERK
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NIREEV AR TR A RIS

®25 TRMETRHET TREAMR

~ H ) . Xt N 44 76
TR AR JE N Ui B 5 iR e
Ho| R BRI
component TIRBE VT R T ER
|--section
TRV HE R TS, @displayName=""T
|--|--code 1.1 R . NN
e iEsE A
|--|--text N4
|--|]--entry IV ivikrs: = 3=
classCode H A1 @classCode="OBS",
|--|--|]--observation
moodCode @moodCode="DEF"
codeSystem kB H RS, o
fewje-|m-|--code codeSystemName | 1.1 | R | @codeSystem="2.16.156.10011.2.2.1", DE06.00.109.00
@codeSystemName=""T*£ {5 B ¥ ¥z 6 H %"
[+-|-[--|--value 1.1 | R | kRS A

12
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Mt R A
(FERMEMR)
2 BUER TR B EPE AR B ST R

<?xml version="1.0" encoding="UTF-8"?>
<ClinicalDocument xmlns="urn:hl7-org:v3" xmlns:mif="urn:hl7-org:v3/mif"
xmlns:xsi="http://www.w3.0rg/2001/XMLSchema-instance"

xsi:schemalLocation="urn:hl7-org:v3 .\sdschemas\SDA .xsd">

<realmCode code="CN"/>

<typeld root="2.16.840.1.113883.1.3" extension="POCD_MT000040"/>

<1 SRR 2 5 >

<templateld root="2.16.156.10011.2.1.1.13"/>

<A RG>

<id root="2.16.156.10011.1.1.1.4" extension="D2011000001"/>

<S>

<code code="HSDB04.02" codeSystem="2.16.156.10011.2.4" codeSystemName="_"T /£ {5 B 1 5 R4 45 i {4
R"/>

<title>2 Al R 58 BE Ui iRk 55 </title>

<effectiveTime xsi:type="TS" value="20111231154823"/>

<confidentialityCode code="N" codeSystem="2.16.840.1.113883.5.25" codeSystemName="Confidentiality"
displayName=""1F & 15 [n] {7 % ¢ 5] " />

<languageCode code="zh-CN"/>

<setld/>

<versionNumber/>

<recordTarget typeCode="RCT" contextControlCode="OP">
<patientRole classCode="PAT">
<! AR RN T ->
<id root="2.16.156.10011.1.2" extension="201102113366666"/>

<addr use="H">
<houseNumber>xx"5 xx//N X xx#xx #. 76 </houseNumber>
<streetName>xx KiE</streetName>
<township>xx % #E.</township>
<county> K] [X </county>
<city>XX i </city>
<state>XX44 </state>
<postalCode>510000</postalCode>
</addr>

13
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<telecom value="010-87815102"/>
<patient classCode="PSN" determinerCode="INSTANCE">
<name > 54 /N </name>
<administrativeGenderCode code="1" codeSystem="2.16.156.10011.2.3.3.4"
codeSystemName=""EFE M HIfCA5E (GB/T 2261.1) "/>
<birthTime value="20080101202010"/>
<maritalStatusCode code="20" displayName=".45" codeSystem="2.16.156.10011.2.3.3.5"
codeSystemName="#FHIRHLAILHE (GB/T 2261.2) "/>
<ethnicGroupCode code="15" displayName="-1Z %" codeSystem="2.16.156.10011.2.3.3.3"
codeSystemName=" [ HIIGE (GB 3304) "/>

</patient>
</patientRole>
</recordTarget>
<!--fEE-->

<author typeCode="AUT" contextControlCode="OP">
<l ARXRBEY; H ] >
<time xsi:type="TS" value="20110404"/>
<assignedAuthor classCode="ASSIGNED">
<id root="2.16.156.10011.1.7" extension="234234234"/>
<!--fEPi B>
<assignedPerson>
<name>%* & £ </name>
</assignedPerson>
<representedOrganization>
<id root="2.16.156.10011.1.5" extension="0187565656"/>
<name>xx & i </name>
<addr>xx X xx Kfjxx'5 </addr>
</representedOrganization>
</assignedAuthor>

</author>

<R LY ->
<custodian typeCode="CST">
<assignedCustodian classCode="ASSIGNED">
<representedCustodianOrganization classCode="ORG" determinerCode="INSTANCE">
<id root="2.16.156.10011.1.6" extension="EHR ‘& BLH |14 % 5 "/>
<name> T A= J&) il FERY 52 B 0 </name>
<telecom value="0209837373"/>
<addr>xxffig</addr>
</representedCustodianOrganization>
</assignedCustodian>

</custodian>

14
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<relatedDocument typeCode="RPLC">
<parentDocument classCode="DOCCLIN" moodCode="EVN">
<id root="2.16.156.10011.1.1.1.4" extension="D2011000000"/>
<setld/>
<versionNumber value="1"/>
</parentDocument>

</relatedDocument>

<component>

<structuredBody>

B >
<component>
<section>
<code displayName="}& 1 S £f"/>
<entry>
<observation classCode="CASE" moodCode="EVN">
<!y (B -->
<code code="DE06.00.108.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=" T {5 B #% 70 H %" displayName="F# 1/j /7 :\"/>
<I--BEVFI ] (B TT) >
<effectiveTime value="20110212"/>
<value codeSystem="2.16.156.10011.2.3.1.183" codeSystemName="F# 15 /5
fRAGF" xsiztype="CD" displayName="[ 112 Bfi 1Ji"></value>
</observation>
</entry>
</section>

</component>

<I--REARFE >
<component>
<section>
<code code="11450-4" codeSystem="2.16.840.1.113883.6.1"
codeSystemName="LOINC" displayName="PROBLEM LIST"/>
<text/>
<entry>
<organizer classCode="CLUSTER" moodCode="EVN">
<statusCode/>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.01.118.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="T. {5 B #5570 H %" displayName="4E IR L FR"/>

15
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<value xsi:type="ST">E IR 4 Fr fifiik </value>
</observation>
</component>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.01.116.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T£{5 &4 7t H %" displayName="J{RACHS"/>
<value xsi:type="CD" code="1"
codeSystem="2.16.156.10011.2.3.3.11.1" codeSystemName="5EIRfCIEZE (ICD-10 R) "></value>
</observation>
</component>
</organizer>
</entry>
</section>

</component>

<12 A AT >
<component>
<section>
<code code="8716-3" codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"
displayName="VITAL SIGNS"/>

<text/>
<entry>
<organizer classCode="BATTERY" moodCode="EVN">
<statusCode/>
<component>

<observation classCode="OBS" moodCode="EVN">
<code code="DE04.10.174.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="T. {5 B ##% 70 H %" displayName="y{ 45 £ "/>
<value xsi:type="PQ" value="120" unit="mmHg"></value>
</observation>
</component>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.10.176.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="T. {5 B &% 70 H %" displayName="%&F 5K J&"/>
<value xsi:type="PQ" value="60" unit="mmHg"/>
</observation>
</component>
</organizer>
</entry>
<entry>
<observation classCode="OBS" moodCode="EVN">

16
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<code code="DE04.10.188.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. {5 5 ##5 70 H %" displayName="1£H"/>
<value xsi:type="PQ" value="60" unit="kg"/>
</observation>
</entry>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.075.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="T. {5 B ##% 70 H %" displayName="14 )51 {5 45 "/>
<value xsi:type="PQ" value="23" unit="Kg/m2"/>
</observation>
</entry>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.10.237.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T/:{5 & (45 7t H 3" displayName=" /2 15 sl ik # 2l F5 L "/>
<value xsi:type="BL" value="true"/>
</observation>
</entry>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.10.143.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="T. 5 5 ##% 7t H %" displayName="J{th {4 & 7" />
<value xsi:type="ST">HAth[H PEARAE iR </value>
</observation>
</entry>
</section>

</component>

<-AEETARET >
<component>
<section>
<code displayName="" 7% /5 #"/>
<text/>
<1 AR 2% H >
<entry>
<organizer classCode="CLUSTER" moodCode="EVN">
<statusCode/>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE03.00.053.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 B &4 ¢ H 3" displayName="-1 5 J}Hl &"/>

<value xsi:type="PQ" unit="3" value="1"/>

17
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</observation>
</component>
</organizer>
</entry>
<RI 2% H >
<entry>
<organizer classCode="CLUSTER" moodCode="EVN">
<statusCode/>
<component>

<!--H ki E-->

<observation classCode="OBS" moodCode="EVN">
<code code="DE03.00.054.00" codeSystem="2.16.156.10011.2.2.1"

codeSystemName=""T/£{5 544 7t H %" displayName=" HIX®E () "/>

<value xsi:type="PQ" unit="p" value="2"/>

</observation>

</component>
</organizer>

</entry>

<AEEEH->

<entry>
<organizer classCode="CLUSTER" moodCode="EVN">
<statusCode/>
<component>

<observation classCode="OBS" moodCode="EVN">
<code code="DE03.00.087.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="T. {5 B ##% 70 H %" displayName="HA/%"/>
<value xsi:type="CD" code="2"
codeSystem="2.16.156.10011.2.3.1.23" codeSystemName=" 5 135 2 S HR LD R "/>
</observation>
</component>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE03.00.088.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. {5 B &5 70 H %" displayName="12 ))& (min) "/>
<value xsi:type="IVL TS">
<width value="30" unit="min"/>
</value>
</observation>
</component>

</organizer>
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</entry>
<l--F& HgEo >
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE03.00.055.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. 5 5 ##5 7t H %" displayName="H F & & (g) ">
<value xsi:type="PQ" value="5" unit="g"/>
</observation>
</entry>
<l OB LK H >
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.083.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 B &4 7¢ H 3" displayName="/(» F i 5 "/>
<l-OEDRESAS HdEon) >
<value code="1" displayName=" [ 4f*" codeSystem="2.16.156.10011.2.3.2.26"
codeSystemName="/> B i # ¥ 25 FARAL LK " xsi:type="CD"/>
</observation>
</entry>
<I--WEEAT MK H -->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.068.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="T. {5 B &#% 70 H %" displayName="1# £ 17 }"/>
<--MEATN BT 1LRE 2. 3.%2->
<value code="1" codeSystem="2.16.156.10011.2.3.2.27" codeSystemName="F
VB EAT NPT 45 RS R " xsiztype="CD"/>
</observation>
</entry>
</section>

</component>

<RI >
<component>
<section>

<code code="18776-5" codeSystem="2.16.840.1.113883.6.1"
displayName="TREATMENT PLAN" codeSystemName="LOINC"/>

<text/>

<entry>

<observation classCode="OBS" moodCode="EVN">
<code code="DE04.10.188.00" codeSystem="2.16.156.10011.2.2.1"

codeSystemName="T. {5 B #% 70 H %" displayName="H frff H"/>

<value xsi:type="PQ" value="60" unit="kg"/>
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</observation>
</entry>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.075.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. 5 5 ##5 7t H %" displayName="H tx {4 T 5 40"/>
<value xsi:type="PQ" value="23" unit="Kg/m2"/>
</observation>
</entry>
<1 AR 2% H >
<entry>
<organizer classCode="CLUSTER" moodCode="EVN">
<statusCode/>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE03.00.053.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. 5 5. ##5 7t H %" displayName="H #x - T Jifl &"/>

<value xsi:type="PQ" unit="3" value="1"/>

</observation>
</component>
</organizer>
</entry>
<RI H -->
<entry>
<organizer classCode="CLUSTER" moodCode="EVN">
<statusCode/>
<component>

<!--H ki E-->

<observation classCode="OBS" moodCode="EVN">
<code code="DE03.00.054.00" codeSystem="2.16.156.10011.2.2.1"

codeSystemName=""T 415 &£ #5 7C H %" displayName="H tx H Xl & (#H) "/>

<value xsi:type="PQ" unit="p" value="2"/>

</observation>

</component>
</organizer>

</entry>

<l-iz7)% H-->

<entry>
<organizer classCode="CLUSTER" moodCode="EVN">
<statusCode/>
<component>
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<observation classCode="OBS" moodCode="EVN">
<code code="DE03.00.087.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. 5 5 #%70 H %" displayName="H tr S #"/>
<value xsi:type="CD" code="2"
codeSystem="2.16.156.10011.2.3.1.23" codeSystemName=""5 /4 iF s HL AL K" />
</observation>
</component>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE03.00.088.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 5 £ #5 7C H %" displayName="H t#12 3 & (min) "/>
<value xsi:type="IVL TS">
<width value="30" unit="min"/>
</value>
</observation>
</component>
</organizer>
</entry>
<-HirHEfE (g %H->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE03.00.055.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 B 40 #5 ¢ H %" displayName="H Az H X & & (g) "/>
<value xsi:type="PQ" unit="g" value="5"/>
</observation>
</entry>
</section>

</component>

<SG S A A >
<component>
<section>
<code code="30954-2" codeSystem="2.16.840.1.113883.6.1"
codeSystemName="LOINC" displayName="STUDIES SUMMARY"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.50.037.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & £ #5 7C H %" displayName="% € L A#{H (mmol/L) "/>
<value xsi:type="PQ" value="3" unit="mmol/L"/>
</observation>
</entry>

<entry>
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<observation classCode="OBS" moodCode="EVN">
<code code="DE04.50.083.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 40 #5 7C H %" displayName="#i{b ML &R AEH (%) "/>
<effectiveTime value="20121101"></effectiveTime>
<value xsi:type="INT" value="3"/>
</observation>

</entry>

<entry>
<organizer classCode="CLUSTER" moodCode="EVN">
<statusCode/>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.30.010.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="T 415 L ##5 7¢ H 3" displayName="4# BI#6 £ I H "></code>
<l--far U 1 -->
<effectiveTime value="20121201"></effectiveTime>
<value xsi:type="ST">%#i B X i H ik </value>
<performer>
<assignedEntity>
<id></id>
<assignedPerson>
<name>/NZE</name>
</assignedPerson>
</assignedEntity>
</performer>
</observation>
</component>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.30.009.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 E. 445 7C H %" displayName="4f B & 1 4% SR "></code>
<value xsi:type="ST">%# Bl & &5 B i id </value>
</observation>
</component>
</organizer>
</entry>
</section>

</component>

<\-FIZEET >
<component>

<section>
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<code code="10160-0" codeSystem="2.16.840.1.113883.6.1" displayName="HISTORY
OF MEDICATION USE" codeSystemName="LOINC"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.164.00" displayName=""r 25 7] {CH5"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_F =15 B4 ¢ H 3%"/>
<value xsi:type="CD" code="1" codeSystem="2.16.156.10011.2.3.1.157"
codeSystemName=""r1 24 {1 FH 2 5| LS K "></value>
</observation>
</entry>
<entry>
<substance Administration classCode="SBADM" moodCode="EVN">
<text/>
<routeCode code="1" codeSystem="2.16.156.10011.2.3.1.158"
codeSystemName="H 2 i& = ALK " />
<!--H 250 -k >
<doseQuantity value="20" unit="mg"/>
<\--HZHxE >
<rateQuantity value="3" unit="X/H"/>

<consumable>
<manufacturedProduct>
<manufacturedLabeledDrug>
<I--Zjim AR >
<code/>
<name>ZF M </name>
</manufacturedLabeledDrug>
</manufacturedProduct>
</consumable>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.027.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T£{5 & 4(4fi 7t H %" displayName="H 25 W 52" />
<I-REAGRMNE-ARES 1 FRoREE->
<value code="1" codeSystem="2.16.156.10011.2.3.2.12"
codeSystemName="fIR 24k I\ ARG " xsi:type="CD"/>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.130.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. {5 B #5750 H %" displayName="F Zj gI{1E FH"/>
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<!--HZ5RIE -0 ->
<value xsi:type="ST">/k ke, BRIXKTEA R M Hfid</value>
<precondition>
<criterion>
<--FHZENWERFRE  value="true" &K/~ f-->
<value xsi:type="BL" value="true"/>
</criterion>
</precondition>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.135.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T"£{5 & 44 7o H %" displayName="2454)f{i i &5 &"/>
<\--ZAE R >
<value xsi:type="INT" value="30"/>
</observation>

</entryRelationship>

</substance Administration>
</entry>
<l--fRE >
<entry>
<substanceAdministration classCode="SBADM" moodCode="EVN">
<text/>
<!--H 2550 8-k -->
<doseQuantity value="20" unit="1"/>
<\-HZHE >
<rateQuantity value="3" unit="H"/>
<consumable>
<manufacturedProduct>
<manufacturedLabeledDrug>
<code code="DE08.50.013.00"
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T/4: {5 B ## 7t H 5" displayName="fi & X Fh"/>
<name>Jf & F Fl 2 </name>
</manufacturedLabeledDrug>
</manufacturedProduct>
</consumable>
</substance Administration>
</entry>
<1--DE04.50.024.00 {i iU Sz RifChig-->
<entry>
<observation classCode="OBS" moodCode="EVN">
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<code code="DE04.50.024.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T/£{5 & 4t 7o H %" displayName="1 ILHE 5 S ACAS" />
<value xsi:type="CD" code="1" codeSystem="2.16.156.10011.2.3.2.28"
codeSystemName="1[ ML {# < MALHS K "></value>
</observation>
</entry>
</section>

</component>

<A A >
<component>
<section>
<code code="51848-0" displayName="Assessment note"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<text/>
<I--%H: BEUIVHECEA TILE, dk, ZHENEUARE]-->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.066.00" displayName="|58 1 V-4 &5 "
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""F 4= 15 B X4 ¢ H 3%"/>
<value code="2" displayName="5% " codeSystem="2.16.156.10011.2.3.1.150"
codeSystemName="fifi 1/ PF-A/1 25 AL " xsi:type="CD"/>
</observation>
</entry>
</section>

</component>

<I-FEiZEWET >
<component>
<section>
<code code="18776-1" codeSystem="2.16.840.1.113883.6.1" displayName="referal"
codeSystemName="LOINC"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.174.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=" T {5 B &5 70 H 5" displayName="4%1245&"/>
<value xsi:type="BL" value="true"></value>
<entryRelationship typeCode="CAUS" negationInd="false">
<act classCode="INFRM" moodCode="APT" negationInd="false">
<code code="DE06.00.177.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="T. {5 B #% 70 H %" displayName="%%12 i [K]"/>
<text> i [A: I LRI S, 9 175 0 B </text>
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<performer>
<time/>
<assignedEntity>
<id/>
<representedOrganization>
<name> P £}</name>
<asOrganizationPartOf>
<wholeOrganization>
<name>xx[& it </name>
</wholeOrganization>
</asOrganizationPartOf>

</representedOrganization>

</assignedEntity>
</performer>
</act>
</entryRelationship>
</observation>
</entry>
</section>
</component>
<I-- NIRRT >
<component>
<section>
<code displayName=""F /X i ijj = HE"/>
<text/>
<entry>

<observation classCode="OBS" moodCode="DEF">

<code code="DE06.00.109.00" codeSystem="2.16.156.10011.2.2.1"

codeSystemName=""T: {5 & (#fi 7t H 5%" displayName=""F /X i H "/~
<value xsi:type="TS" value="20110606"/>
</observation>
</entry>
</section>
</component>
</structuredBody>
</component>

</ClinicalDocument>
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